
en assembly instructions for Spectrum sofa b02 

de Montageanleitungen für Spectrum sofa b02

fr Instructions de montage pour Spectrum canapé b02  

hr Upute za montažu Spectrum sofa b02

SPECTRUM

0
9_

20
24

_
ve

r.
03



inner left

inner right

outer right

outer left

b02  

2 2 2 2 2 

2 

3 

2 2 2 2 1 

× ×××

× ×××

2,5seater
w 167 × d 89 × h 78
w 32¹/₄" × d 34³/₄"

3seater
w 206 × d 89 × h 78

w 81" × d 34³/₄"

3,5seater
w 245 × d 89 × h 78
w 96²/₄" × d 34³/₄"

2seater +
 chaise lounge
w 245 × d 89 × h 78
w 96²/₄" × d 59³/₄"

armchair
w 82 × d 83 × h 78
w 32¹/₄" × d 32¹/₄"

allen wrench keys
Inbusschlüssel
Clés Allen
imbus ključevi
4 & 5 mm

m6×16
Number of screws per leg:
Anzahl der Schrauben pro Bein:
Nombre de vis par pied:
Broj vijaka po nogici: 3

en | fabric maintainance - safety stripe for hook & loop 
When removing the upholstery, cover the hook & loop with safety fabric stripe.
de | schutzband mit klettverschluss
Schützen Sie beim Abnehmen des Bezuges den Kle�verschluss mit den mitgelieferten Bändern
fr | entretien du tissu - bande de protection velcro
Lors du retrait de la housse, protégez le Velcro à l'aide des sangles fournies.
hr | zaštitna traka za čičak
Prilikom skidanja navlaka, zaštiti čičak koristeći priložene trake. 

2



a02

a03

a01

* additional sets / zusätzliche Sets / ensembles supplémentaires / dodatni setovi

en | f the sofa contains an chaise lounge, set the connectors.
de | Wenn das Sofa ein verlängertes Teil enthält, montieren Sie die Verbindungsstücke.
fr |Si le canapé contient une partie allongée, montez les connecteurs.
hr | Ukoliko sofa sadrži produženi dio, montirati spojnice.  

en | If the sofa contains an chaise lounge, set hidden leg.
de | Wenn das Sofa einen verlängerten Teil enthält, achten Sie auf das versteckte Bein.
fr | Si le canapé contient une partie allongée, surveillez le pied caché. 
hr | Ukoliko sofa sadrži produženi dio, monitrati skrivenu nogicu.

2 × 1 ×

2 ×8 × 2 ×

en | armrest set - chaise lounge
de | armlehnenset - verlängerter Teil
fr | ensemble d'accoudoirs - partie allongée
hr | set za rukonaslon - produženi dio

armrest / armlehnen / accoudoirs / rukonaslon

m8 ×40m6 × 16

m6×16

2×2×8× 

4 × 2× 2×

m8 ×40m6 × 16

 ×
 ×

 ×
 ×

m6×16

 ×

3



Retournez le dossier du canapé sur une 
surface douce pour monter les pieds. Afin 
d'être sûr que les pieds du b02 sont correcte-
ment positionnés, il est important de fixer le 
pied à travers les trous marqués sur l'illustra-
tion. Chaque pied doit être fixé au canapé avec 
au moins 3 vis, utilisez des vis m6×16.

Okrenuti naslone sofe na meku podlogu kako 
bi se montirale nogice. Kako bi bili sigurni da 
su nogice b02 pravilno postavljene bitno je 
pričvrstiti nogicu kroz rupe označene na 
ilustraciji. Svaka nogica mora biti učvršćena za 
sofu minimalno s 3 vijka, koristiti vijke m6×16.
 

Turn the backs of the sofa on a so� surface to 
mount the legs. In order to be sure that the 
b02 legs are correctly positioned, it is import-
ant to fasten the leg through the holes 
marked in the illustration. Each leg must be 
fixed to the sofa with at least 3 screws, use 
m6×16 screws.

Drehen Sie die Rückseiten des Sofas auf eine 
weiche Oberfläche, um die Beine zu montie-
ren. Um sicherzustellen, dass die b02-Beine 
richtig positioniert sind, ist es wichtig, die 
Beine durch die in der Abbildung markierten 
Löcher zu befestigen. Jedes Bein muss mit 
mindestens 3 Schrauben am Sofa befestigt 
werden, verwenden Sie M6×16-Schrauben. 

montaža nogica b02 na osnovne module / setting the b02 legs on basic modules

3 × m6×16

Pogled odozdo / Bo�om view

3 × m6×163 × m6×16

3 × m6×163 × m6×16

4



details / details / détails / detalji

76

5 4

3

2

1

5



*If the composition contains an extended 
part and legs b02 as in the illustration, put 3 
screws leg on the outer leg in the corner. 

*Wenn die Komposition wie in der 
Abbildung ein verlängertes Teil und Beine 
b02 enthält, befestigen Sie das Bein mit 3 
Schrauben am äußeren Bein in der Ecke.

*Si la composition contient une partie 
allongée et des pieds b02 comme sur 
l'illustration, me�re 3 vis jambe sur le pied 
extérieur dans le coin.

*Ukoliko kompozicija sadrži produženi dio i 
nogice b02 kao na ilustraciji, na vanjsku 
nogicu u kutu staviti 3 vijka nogicu.

details / details / détails / detalji

6



Turn the backrests of the sofa on a so� 
surface to mount the legs. If the legs b02 are 
mounted, follow the illustrations. One leg 
must be a�ached to the sofa structure with 
screws m6×16. To make sure that the b02 legs 
are correctly positioned, it is important to 
fasten the leg through the holes marked in the 
illustration

Okrenuti naslone sofe na meku podlogu kako 
bi se montirale nogice. Ukoliko se montiraju 
nogice b02 pratiti ilustracije. Jedna nogica 
mora biti pričvršćena za kontrukcije sofe 
vijcima m6×16. Kako bi bili sigurni da su nogice 
b02 pravilno postavljene bitno je pričvrstiti 
nogicu kroz rupe označene na ilustraciji.

montaža nogica b02 / assembling the b02 legs

6 7

3

4

5

1
2

7



2 ×8 × 2 × ×
 ×

m6×16

8

fr | connecter la partie étendue
① Retournez le dossier du canapé sur une 
surface douce pour installer le connecteur. La 
plus grande partie de l'accouplement est 
surveillée sur la partie étendue, la plus petite 
partie sur le module 2,5 places. Fixez les 
modules du canapé à l'aide d'une vis.

② Passez la vis à travers le trou fileté pour 
serrer les modules.

hr | spajanje produženog dijela  
① Okrenuti naslone sofe na meku podlogu 
kako bi se postavila spojnica. Veći dio spojnice 
monitra se na produženi dio, manji dio na 
modul 2,5 sjeda. Učvrstiti u module sofe 
koristeći vijak.
 
② Popreko kroz navojnu rupu provući vijak 
kako bi se stegnuli moduli.

en | connecting the chaise lounge
① Turn the backrests of the sofa on a so� 
surface to install the connector. The larger 
part of the connector is set on the chaise 
lounge (on the le� in the illustration), the 
smaller part on the 2,5 seat module. Fasten in 
the sofa modules using a screw.
② Pass the screw through the threaded hole 
transversely to tighten the modules.

de | verbinden des verlängerten teils
① Drehen Sie die Rückseite des Sofas auf eine 
weiche Oberfläche, um den Stecker zu 
installieren. Der größere Teil der Kupplung 
wird am ausgefahrenen Teil überwacht, der 
kleinere Teil am Modul 2,5 Plätze. Befestigen 
Sie die Sofamodule mit einer Schraube.

② Führen Sie die Schraube durch das Gewind-
eloch, um die Module festzuklemmen. 



9

after that, tighten the second screw!
dann die zweite Schraube festziehen!

puis serrez la deuxième vis !
nakon toga stegnuti drugi vijak!

②

①

first fully tighten one screw!
ziehen sie zunächst eine schraube fest an!

serrez d'abord complètement une vis!
prvo do kraja stegnuti jedan vijak!



2×2×8× 
m8 ×40m6 × 16

 ×
 ×

en | connecting the armrests
All types of armrests (a01, a02, a03) are 
mounted on the same principle. Put two 
screws m6×16 on the outside in one bracket, 
screw m8×40 on the opposite side to fix the 
bracket for the armrest. Follow the illustration 
to properly connect the armrest to the sofa 
module.

de | verbindung der armlehnen
Alle Armlehnentypen (a01, a02, a03) werden 
nach dem gleichen Prinzip montiert. Setzen 
Sie zwei Schrauben M6×16 außen in eine 
Halterung ein. Befestigen Sie die Halterung für 
die Armlehne mit einer M8×40-Schraube, 
schrauben Sie die Schraube auf der 
gegenüberliegenden Seite der M6×16 fest. 
Befolgen Sie die Abbildung, um die Armlehne 
ordnungsgemäß mit dem Sofamodul zu 
verbinden.

fr | relier les accoudoirs
Tous les types d'accoudoirs (a01, a02, a03) se 
montent sur le même principe. Me�ez deux 
vis m6×16 à l'extérieur dans un support. Fixez 
le support de l'accoudoir avec une vis m8×40, 
vissez la vis du côté opposé du m6×16. Suivez 
l'illustration pour connecter correctement 
l'accoudoir au module canapé.

hr | spajanje rukonaslona  
Svi tipovi rukonaslona (a01, a02, a03) montira-
ju se na isti princip. U jedan nosač staviti dva 
vijka m6×16 sa vanjske strane. Vijkom m8×40  
učvrstiti nosač za rukonaslon, vijak ušerafiti sa 
suprotne strane od m6×16. Pratiti ilustraciju za 
pravilno spajanje rukonaslona sa modulom 
sofe.

10



insert
einfügen
insérer

umetnuti

2 × m8 ×40

4 × m6 × 16

m8×40

m8×40

11



headquaters & production
Pustodol Začretski 19 g
49 223 Sv. Križ Začretje
Croatia, Europe

prostoria showroom chicago
222 W Merchandise Mart Plaza,
3rd Floor, Suite 381
Chicago, il 60654, us

� info@prostoria.eu
www.prostoria.eu


